





$$\begin{array}{rcl} \boxed{3} & \underline{\chi^{2} + 2\chi - 8} \\ & \underline{2\chi^{2} - \chi - 6} \\ = & (\underline{\chi + 4})(\underline{\chi - 2}) \\ & = & (\underline{\chi + 4})(\underline{\chi - 2}) \\ & = & (\underline{\chi + 4})(\underline{\chi - 2}) \\ & = & (\underline{\chi + 4}) \\ & = & (\underline{\chi + 4}) \\ & = & (\underline{\chi + 4}) \\ & \underline{\chi + 3} \end{array}$$

$$\begin{array}{rcl} \underbrace{(\underline{\chi + 4})} \\ & \underline{\chi + 4} \\ & \underline{\chi + 3} \end{array}$$

$$\begin{array}{rcl} \underbrace{(\underline{\chi + 4})} \\ & \underline{\chi + 4} \\ & \underline{\chi + 5} \end{array}$$

(5)
$$\frac{x^3 + 27}{x^3 - 3x^2 + 9x}$$
 Hint: Use $A^3 + B^3 te$
 $\frac{x^3 + 3^3}{x(x^2 - 3x + 9)} = \frac{(x + 3)(x^2 + 3x + 9)}{x(x^2 - 3x + 9)}$
 $= \frac{(x + 3)}{x}$

$$\begin{array}{l} \textcircled{6} \quad \frac{\chi^{3} - 4\chi}{\chi^{3} - 8} & \text{Hint: Be aware of} \\ \frac{\chi^{3} - 8}{\chi^{3} - 8} & \text{GCF, } A^{2} - B^{2}, \\ \frac{\chi(\chi^{2} - 4)}{\chi^{3} - 8} \\ = \frac{\chi(\chi^{2} - 2^{2})}{\chi^{3} - 2^{3}} = \frac{\chi(\chi + 2)(\chi - 2)}{(\chi - 2)(\chi^{2} + 2\chi + 4)} \\ = \frac{\chi(\chi + 2)}{\chi^{2} + 2\chi + 4} \end{array}$$

Find all excluded Values: Deno.=0,
Solve
(1)
$$\frac{x+1}{x-6}$$
 $\frac{x-6=0}{x=6}$ (2) $\frac{3x^2}{4x+5}$
(3) $\frac{x+10}{x^2-x-6}$ $\frac{x+10}{x^2-x-6=0}$ $\frac{x-5}{4x-5}$ $\frac{x-5}{4}$ $\frac{x-2}{2}$ $\frac{x-3}{2}$ $\frac{x$

Simplify:
(1)
$$\frac{5\chi - 15}{3\chi + 9} \cdot \frac{4\chi + 12}{6\chi - 18}$$

= $\frac{5(\chi - 5)}{3(\chi + 3)} \cdot \frac{\frac{\chi}{\chi}(\chi + 3)}{\frac{\chi}{3}(\chi + 3)} = \frac{\chi + 4}{\chi + 2}$

$$\begin{array}{c} (3) \quad \frac{\chi^{2} - \chi - 6}{\chi^{2} - 2\chi - 8} \cdot \frac{\chi^{2} + \chi + 12}{\chi^{2} - 9} \\ = \frac{\chi^{2} - \chi}{\chi^{2} - 2\chi - 8} \cdot \frac{\chi^{2} + \chi + 12}{\chi^{2} - 9} \\ = \frac{\chi^{2} - 2\chi - 8}{\chi^{2} - 2\chi - 8} \cdot \frac{\chi^{2} + \chi + 12}{\chi^{2} - 9} \\ = \frac{\chi^{2} - 9}{(\chi - 4)(\chi + 2)} \cdot \frac{(\chi + 3)(\chi + 4)}{(\chi - 4)(\chi + 2)} \\ = \frac{\chi^{2} + 1}{\chi^{2} - 9} \cdot \frac{\chi^{2} - 3\chi}{\chi^{2} - 3\chi} \\ = \frac{\chi^{2} - 9}{\chi^{2} - 9} \cdot \frac{\chi^{2} - 3\chi}{\chi^{2} - 3\chi} \\ = \frac{\chi^{2} - 9}{\chi^{2} - 9} \cdot \frac{\chi^{2} - 3\chi}{\chi^{2} - 3\chi} \\ = \frac{\chi^{2} + 1}{\chi^{2} - 9} \cdot \frac{\chi^{2} - 3\chi}{\chi^{2} - 3\chi} \\ = \frac{\chi^{2} - 9}{\chi^{2} - 9} \cdot \frac{\chi^{2} - 3\chi}{\chi^{2} - 3\chi} \\ = \frac{\chi^{2} + 1}{\chi^{2} - 9} \cdot \frac{\chi^{2} - 3\chi}{\chi^{2} - 3\chi} \\ = \frac{\chi^{2} + 1}{\chi^{2} - 9} \cdot \frac{\chi^{2} - 3\chi}{\chi^{2} - 3\chi} \\ = \frac{\chi^{2} + 1}{\chi^{2} - 9} \cdot \frac{\chi^{2} - 3\chi}{\chi^{2} - 3\chi} \\ = \frac{\chi^{2} + 1}{\chi^{2} - 9} \cdot \frac{\chi^{2} - 3\chi}{\chi^{2} - 3\chi} \\ = \frac{\chi^{2} + 1}{\chi^{2} - 9} \cdot \frac{\chi^{2} - 3\chi}{\chi^{2} - 3\chi} \\ = \frac{\chi^{2} + 1}{\chi^{2} - 9} \cdot \frac{\chi^{2} - 3\chi}{\chi^{2} - 3\chi} \\ = \frac{\chi^{2} + 1}{\chi^{2} - 9} \cdot \frac{\chi^{2} - 3\chi}{\chi^{2} - 3\chi} \\ = \frac{\chi^{2} + 1}{\chi^{2} - 9} \cdot \frac{\chi^{2} - 3\chi}{\chi^{2} - 3\chi} \\ = \frac{\chi^{2} + 1}{\chi^{2} - 9} \cdot \frac{\chi^{2} - 3\chi}{\chi^{2} - 3\chi} \\ = \frac{\chi^{2} + 1}{\chi^{2} - 9} \cdot \frac{\chi^{2} - 3\chi}{\chi^{2} - 3\chi} \\ = \frac{\chi^{2} + 1}{\chi^{2} - 9} \cdot \frac{\chi^{2} - 3\chi}{\chi^{2} - 9} \\ = \frac{\chi^{2} + 1}{\chi^{2} - 9} \cdot \frac{\chi^{2} - 3\chi}{\chi^{2} - 9} \\ = \frac{\chi^{2} + 1}{\chi^{2} - 9} \cdot \frac{\chi^{2} - 3\chi}{\chi^{2} - 9} \cdot \frac{\chi^{2} - 3\chi}{\chi^{2} - 9} \\ = \frac{\chi^{2} + 1}{\chi^{2} - 9} \cdot \frac{\chi^{2} - 3\chi}{\chi^{2} - 9} \cdot \frac{$$

Adding/Subtracting Rational expressions:
Type I: Same denominator

$$\frac{4}{9} - \frac{1}{9} = \frac{4-1}{9} = \frac{3}{9} = \begin{bmatrix} 1\\ 3 \end{bmatrix}$$

$$\frac{2\chi + 3}{\chi + 3} - \frac{\chi}{\chi + 3} = \frac{2\chi + 3 - \chi}{\chi + 3} = \frac{\chi + 3}{\chi + 3} = \begin{bmatrix} 1\\ 2\chi + 3 - \chi + 3 \end{bmatrix}$$

$$\frac{\chi^2 - 3\chi}{\chi^2 - 25} - \frac{\chi 2}{\chi^2 - 25} = \frac{\chi^2 - 3\chi - 2\chi}{\chi^2 - 25} = \frac{\chi^2 - 5\chi}{\chi^2 - 25}$$

$$= \frac{\chi(\chi - 5)}{(\chi + 5)(\chi - 5)}$$

$$= \begin{bmatrix} \chi\\ \chi + 5 \end{bmatrix}$$

Simplify:
1)
$$\frac{5m}{m-1} - \frac{4m+1}{m-1}$$

= $\frac{5m - 4m - 1}{m-1}$
= $\frac{5m - 4m - 1}{m-1}$
= $\frac{\chi^2 - 8\chi + 15}{\chi - 5}$
= $\frac{m-1}{m-1} = 1$
= $\frac{(\chi - 5)(\chi - 3)}{\chi - 5}$
= $\frac{\chi - 3}{\chi - 5}$

$$\begin{aligned} &(\text{ase II: Different denominator}) \\ &= \frac{5}{6} - \frac{1}{4} = \frac{5 \cdot 2}{2 \cdot 3 \cdot 2} - \frac{1 \cdot 3}{2 \cdot 2 \cdot 3} \\ &= \frac{10}{12} - \frac{3}{12} = \frac{10 - 3}{12} = \frac{1}{12} \\ &= \frac{5}{12} - \frac{3}{12} = \frac{10 - 3}{12} = \frac{1}{12} \\ &= \frac{5}{\chi^2 - 9} + \frac{2}{\chi^2 + 8\chi + 15} \\ &= \frac{5(\chi + 5)}{(\chi - 3)(\chi + 5)} + \frac{2(\chi - 3)}{(\chi + 5)(\chi + 5)(\chi + 5)(\chi + 5)(\chi + 5)} \\ &= \frac{5(\chi + 5)}{(\chi - 3)(\chi + 3)(\chi + 5)} = \frac{5\chi + 25}{(\chi - 3)(\chi + 3)(\chi + 5)} \\ &= \frac{5\chi + 19}{(\chi - 3)(\chi + 3)(\chi + 5)} = \frac{5\chi + 2}{(\chi - 3)(\chi + 3)(\chi + 5)} \end{aligned}$$

Simplify:

$$\frac{2\chi}{\chi^{2}-16} - \frac{3}{\chi^{2}+6\chi+8}$$

$$= \frac{2\chi(\chi+2)}{(\chi-4)(\chi+4)(\chi+2)} - \frac{3(\chi-4)}{(\chi+4)(\chi+2)(\chi+4)}$$

$$= \frac{2\chi^{2}(\chi+2)}{(\chi-4)(\chi+4)(\chi+2)} = \frac{2\chi^{2}+4\chi-3\chi+12}{(\chi-4)(\chi+4)(\chi+2)}$$

$$= \frac{2\chi^{2}+\chi+12}{(\chi-4)(\chi+4)(\chi+2)}$$

Simplify:
$$\frac{2}{x^2 - 36} - \frac{1}{x^2 + 6x}$$

= $\frac{2 \cdot x}{(x + 6)(x - 6) \cdot x} - \frac{1(x - 6)}{x(x + 6)(x - 6)}$
= $\frac{2x}{x(x + 6)(x - 6)} - \frac{2x}{x(x + 6)(x - 6)}$
= $\frac{2x}{x(x + 6)(x - 6)} - \frac{x + 6}{x(x + 6)(x - 6)} - \frac{1}{x(x - 6)}$

$$\frac{3}{\chi^{2}-4} - \frac{2}{\chi^{2}+5\chi+6} - \frac{1}{\chi^{2}+\chi-6}$$

$$= \frac{3(\chi+3)}{(\chi+2)(\chi-2)(\chi+3)} - \frac{2(\chi-2)}{(\chi+2)(\chi+3)(\chi-2)} - \frac{1(\chi+2)}{(\chi+2)(\chi+3)(\chi-2)}$$

$$= \frac{3(\chi+3) - 2(\chi-2) - 1(\chi+2)}{(\chi+2)(\chi-2)(\chi+3)} - \frac{3\chi+9 - 2\chi+9}{(\chi+2)(\chi-2)(\chi+3)}$$

$$= \frac{11}{(\chi+2)(\chi-2)(\chi+3)}$$